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Ten cluster vector
No |addition X-axis y-axis
1|Cluster01A 1,00 10,00
2|Cluster02A 2,00 9,00
3[Cluster03A 8,00 3,00
4|ClusterO4A 4,00 7,00
5|ClusterO5A 5,00 6,00
6ClusterO6A 6,00 5,00
7|Cluster07A 7,00 4,00
8[Cluster08A 3,00 8,00
9|Cluster09A 9,00 2,00
10| Cluster10A 9,00 1,00
|SumA 54,00 55,00
1|Cluster01B 11,00 0,50
2|Cluster02B 8,50 1,50
3|Cluster03B 3,00 8,00
4|Cluster04B 7,00 4,00
5(Cluster05B 5,00 6,00
6|Cluster06B 5,00 5,00
7|Cluster07B 4,00 7,00
8|Cluster08B 8,00 3,00
9|Cluster09B 2,00 8,00
10| Cluster10B 1,00 8,00
SumB 54,50 51,00
Source:

y-axis

Ten cluster vector addition
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=3 Cluster01A == Cluster02A == Cluster03A ==p Cluster04A == Cluster05A

Cluster06A ==p Cluster07A == Cluster08A ==» Cluster09A ==p Cluster10A
= SumA = Cluster01B = Cluster02B == Cluster03B == Cluster04B
= Cluster05B Cluster06B == Cluster07B == ClusterO8B == Cluster09B

—> Clusterl0B = SumB
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